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FL OV FMEE wn Sm P FARW EE Ak

1 07:40 +3F%2 30f/ke B3 ;‘i—% 14,51

2 07:40 + 3’ 45fke p*3 s £ 34,53
3 07:40 + 3% H0fke B3 g 14,51
4 07:40 + 3% 55k B3 e N |
5} 07:40 § 32 70 &k £.3KG) s £ 34,53

6 07:40 3 e 75 &k &:38(4KG) ;‘i—% 444

7 07:40 9+ %2 60#% = 43H(KG) (B) A%  £8+,28
8 07:40 7+ 65Fke &I3R(OKG) (B) % 44 4

9 07:40 ~ 3’ 25 &2 14 (6006) ;‘i—% 14,51
10 07:40 + 3% 30 &x 1 (6006) s 34,53
11 07:40 +~ 3% 35 f&e #14£(6006) g 34,53
12 07:40 + 3% 40 %= 14 (6006) AR £ 34,53
13 07:40 + 3’ 45 ke 1 (6006) AR £ 64,206
14 07:40 +~F & 60 k2 g A006B) FF £ 24,52
15 07:40 *~+x2 65 p, = g A006)(B) A% x 2 A2
16 07:40 *+x2 70 k2 4 4006)(B) % x5 4,85
16 07:40 ~=F& 75 k2 HEMA0GOB) AF £1+4,51
17 07:50 + 3% 30 &%= 5000M g 1A BRI
18 07:50 ~ 3% 40 &%= 5000M g EHAHERD
19 07:50 + 3’ 45 &= 5000M g 1A, H&RI]
20 07:50 -~ 3% 55 &%= 5000M g 24 FBR2
21 07:50 * 3 & 60 &= 5000M ey SN U 3 |
22 07:50 32 60 &= 5000M s L3A,HRS
23 07:50 -~ 3% 65 &%= 5000M g 1A ERI]
24 07:50 ¥ 3 & 65 5000M A R 24, B2
25 07:50 g3 %2 70 &%= 5000M g 24 BR2
26 07:50 g3 & T5 &% 5000M g 1A ERI]
27 07:50 32 80 &= 5000M s £ 3AHERS
28 07:50 § 32 80 &k PR g 2 A, B2 4
29  07:50 9§33 =& 8 Kk prig o N SR B
30 07:50 §3e 90 ke phiB s 1 4,514
31 08:20 §3e M4 ke pt3 ;‘i—% x 1 4,5~1+4
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108 11:00 ¥+ 50 &= 100MH(O.914M) % SRS < 3 (9
109 11:00 ¥+ 55 &= 100MHCO. 914M) A% 24, BB24
110 11:00 ¥ =+ % 55 fkle 43 (6KG) s ETABTA

111 11:00 9§+ 35&%x #4#(8006) i £ 11 4,784
112 11:05 9+ 25 pk e 110MHCO. 991M) - S B & 3
113 11:05 9+ 30 &= 110MHC0.991M) A% 04, HBH L
114 11:05 9+ 35 jk = 110MHCO. 991M)  i+-% L34, HBRIA
115 11:10 ¥+ 40 &= 110MHCO. 991M) A% 64, FHBO6 L
116 11:15 ¥ &+ ' 45 &% 110MH(C0.991M) - # 64, FHBO6 X
117 11:30 %3 40 &&= 14 (8006) AR £ 94,584

118  11:30 5 =+ 45 gk'e 48 (800G) o 44,44

11:30 B %248
112203 > g5 BRIRR ~ &S 0 35208 4 5 - Rl

ZEAR 8RNI FFES LW ERET - FES R SRR

12:00 i AP
12040 3HE £ sk &

o VFER e AN W FAEW EE Ak

119  13:00 93 = M24 fk e prig s H2A, B2 4
120 13:00 9§ 3= 25 k= peid g £ 1 A,B] 4
121 13:00 9§32 30 k= prig s ETABTA
122 13:00 9§ 3= 35 kE prig g H 4 A B4
123 13:00 7+ ‘= M24 % = 454 (2KG) g £ 1 A,B] 4
124 13:00 93 = 25 k= 44 (2KG) s £ 3 A, B34
125  13:00 93 = 30 &= 442KG6) g ETABTA
126 13:25 93 =& 35 ke #42K6) - F £Q A, B84
127 13:30 93 = M24 % = 400M g 21 A, BB
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203 15:30 &3 & 55 Ak R A £ 34,B 3
204 15:30 3 & T0 & peiE e T SR B
205  15:30 *F & THAkLe @i A E 1AL
206 15:30 + 3 & 80 k& pri o N SR B
207 15:40 93 75 &= 44 (1KG) A £ 64,506
15:50 * 3 &gkl 4XKI00M 4+ 14200 & v fepfif wdf &
208  15:50 ¥ 3 25 &l 400 o % 4 AF  E 5,5
209  15:50 ¥ 3= 30 gkl 400 o % 4 AF S R 2,2
210  15:50 §F & 45 ke 400 o % B4 e S I W
211 16:00 *3 & 25 &2 400 & = &4 e S W
212 16:00 ¥ 3 80 &l 445 (1KG) Ag £ 34,331
213 16:00 9§ 32 85 & 4544 (1KG) A 34, B3
214 16:00 § 3 & 90 &= 44 (1KG) A B 14,1
16:00 ¥ 3 gkl 4XKI00M4x+4 14200 = ¥ fepFif wdf
215 16:00 * 3 40 &l 400 o = 4 e S
216 16:00 *3 = 50 &l 400 o = &4 o S N ¢
217 16:00 * 3= 55k 400 o = £ 4 AF S B2 1H, LI
218  16:00 3 & 60 &l 400 = ¢ £ 4 e S
219  16:00 3 & 65 gkl 400 2 % 4 e S B W
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SIS AL AR S FAzH EE Ak
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223 07:00 ¥ 3% 60 %= 10000M g E3A, BRI
224 07:00 3% 65 f&e 10000M g 24, FBR2A
225 07:00 ¥ 3% 70 %= 10000M g EA4 A FRLA
226 07:00 ¥ 3% 75 %% 10000M g E1A#HBRLA
227 07:00 § 32 80 &%= 10000M s H3A, BRI
228 07:00 ¥ = % 100 & % 10000M g e R 37
229 07:40 43 80 = 445 (0. 75KG) s E 1A, B~1 4
230 07:50 * 3% 65 f&e 44 (1KG) s 1A, 14
231 07:50 4 3% 70 %&x 44 (1KG) s L4 A B4
231 07:50 4 3% 75kl 44 (1KG) i E 1A, B1 4
232 07:50 9 3% THike p3 g L H A, BH A
233 07:50 9 3% 80fke p+3 s L1 A, B~1 4
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272 09:40 ¥ 5= 35 ke 400MHCO. 914M) A% 24, BB2A

273 09:40 ¥ e 40 &= 400MHCO.914M) A% FA4 A FRLA

274 09:45 ¥+ 45 ke 400MHCO. 914M) A% L84, HBBA

275 09:50 A~ 45 ke 400MHCO. 762M) A ST A H&HBL A

276 09:55 A~ = 65 ke 300MHCO.762M) A% S B & 3

277 09:55 ¥ 3= 70 f e 4azk(4KG) o 44,44

278 09:55 ¥+ T5 Ak a3k (4KG) o £ 04,504

279 10:00 ¥ == 60 &= 300MHCO.762M) A% 44, FR4A

280  10:00 ¥ = 70 #& = 300MHCO.762M) A% ST A HBRLA

281 10:00 9+ T0kE = 5prig AR 3 A, B34

282 10:00 9§ +& THAE = spi o R24A,24

283 10:05 % == 80 f& = 200MHCO.762M) A% ST A HBLA

284  10:15 &+ = M24 ‘e 200M g S U & N

285 10:15 ~F & 30 &&= 200M s ST A H&BLA

286 10:15 ~+ & 35 &% 200M s Sl A, &BLA

287 10:15 A+ = 40 &= 200M g 24, BB

288  10:18 *+ =& 45 &= 200M s SRS < 3 (N

289  10:20 %+ 60 f& = 4&3k(5KG) s H 4 A B4

290  10:20 ¥ 3 =& 65 e 4azk(5KG) s 14,514

291 10:21  + 3+ 50 &= 200M s L34, BRI

292 10:21 ~+ %= H54&x 200M g L34, HBIA

293 10:25 &&= 60 &&= 200M s ST A HBL A

294 10:25 &&= 65 A& x 200M g Sl A, #&BLA

295 10:25 A+ = TS5 = 200M g 24, FB2A

296 10:25 &+ = 80 A& & 200M s ST A HBLA

297 10:28  §F S & M24 g e 200M g 44 R4 A

298 10:31 ¥ F&= 25f%&x 200M PREAE X942 28 IR A
299 10:37 ¥+ 30 &= 200M g 64, FBE6 X

300 10:40 3= 35Fk=E 200M g ETAHEBRTA

301 10:40 *F+& 3HkE = sprp s 04,504

302 10:40 H+F+= 80fE = spri g 14,14

303 10:40 ¥+ 8 AR = &pri g 214,14

304  10:40 §FF =& 90 Kkl = mpri s 1 A,B1 4

305 10:43 § 3= 40 = 200M PEAE XL A, 228 FRESA
306  10:49 ¥ & 45 % & 200M PRAE R 124,028 R84
307  10:50 ¥ + =& 50 F& e 4azk(6KG) s £ 34,534

308  10:50 ¥+ 55 &= 43k (6KG) s 44,44

309  10:55 ¥+ & 50 &&= 200M PREAE X942 28 HIEGA
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310 11:00 ¥+ 55 &&= 200M PRAE R 134,28 B84
311 11:05 5+ 60 &= 200M s FTAHRTA
312 11:08 ¥+ % 65 &% 200M s 64, FHBO6 L
313 11:10 9 + = M24 & = 443 (7. 26KG) i 14,14
314 11:10 9+ 25 k= 4a3R(7. 26KG) g 44,544
315 11:10 ¥+ 30 &= 4a3R(7. 26KG) o R24A,24
316 11:10 % + % 35 ke 4a3k(7. 26KG) o £ 34,534
317 11:10 %+ 40 &= 4a3R(7. 26K6) g £ 34,534
318  11:10 5 + & 45 gz 4a3R(7. 26KG) s £ 34,34
319 11:11 93 %= 70 &= 200M AR 64, #HE6 L
320 11:14 3+ x 80 &&= 200M o 24, FB2A
321 11:14 5+ & 85 &% 200M s ST A HBLA
322 11:20 +~+'= 354 = 800M g £1 4,514
323 11:20 -~ 40 &= 800M s £ 34,34
324 11:20 ~+ 2 454 % 800M s R 24,324
325 11:20 +~+'= 50 &= 800M g £ 34,534
326  11:20 *+ %= 55 &' 800M s 14,14
327 11:20 ~+ & 65 & & 800M s 14,514
328  11:20 -~ & 754 % 800M s 14,514
329  11:26 ¥+ & 2542 800M g ETABTA
330 11:256 ¥ 3= 30 &k 800M g £1 4,514
331 11:25 93+ 35 800M s £ 34,34
332 11:29 5+ =& 40 &= 800M g £ 94,584
333 11:33 ¥ 3= 45 e 800M g ETABTA
334  11:37 5+ %= 50 &= 800M s £ 84,584
335 11:41 93’ 55 &= 800M g R 24,324
336 11:41 ¥+ & 60 &&= 800M s £ 34,34
337 11:41 93 65 = 800M s £ DH A, B0 4
338 11:45 ¥ 3= 70 &= 800M g £ 34,534
339 11:45 ¥+ %& T54&x 800M s 14,14
340 11:45 ¥+ &= 80 &= 800M g 44,44
341 11:45 5+ 85 e 800M g £1 4,514
11:50 *3F& Zpkz 4%400M %4 10200 = + FeprsifF e dF

342 11:50 ~+ % 254 %% 1600 == &+ g £ 10, 2115
343 11:50 ~F & 30 & & 1600 = = &4 i 1,215
344  11:50 * 3+ = 40 &= 1600 = = 44 s £ 1, 21 1%
345 11:50 -+ 45 &%= 1600 = = 4%+ s £ 1,211
346 11:50 ~F & 50 & & 1600 = = &4 i 1,215
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347 11:50 432 60 %z 1600 == &4 ;'i—% = 10,21 Ff
348 11:50 %~ %2 65z 1600 == &4 s =1, 211
12:00 § 3k Zgile 4X400M 4 10:00= + %?E‘*ﬁ%ﬁﬂiﬁ -
349 12:00 g3 25 f&kE 1600 == £ ;'i—% £ 20, B2 %
350 12:00 g3 30 &E 1600 == &4 g 20, B~ 2 If
351 12:00 g3 35fkE 1600 == 54 ii-% 211,211
352 12:00 g3 40 &x 1600 = = £ 4 o = 2%, B2 I%
353 12:00 g3 45 ke 1600 = = £ 4 g =10, B~ 1 Ff
12:10 i * Bprfy
12040 §HE £ 3o Skt ¢

Y L A bl IE P FAzE EE A4

354 13:00 4~ 2= 25 %% 5000M s4_ g L2AFBR2A
355 13:00 4= 30 #% 2= 5000M sk4_ ;'i—% 1A ERLA
356 13:00 %32 35 &= 5000M sk4_ o E R 370
357 13:00 432 40 %= 5000M s%4_ ii-% L3AERIA
358 13:00 4 =% 50 %2 5000M s%4_ ;'i—% E3AERIA
359 13:00 %32 55 %= 5000M 4 g L2AFBR2A
360 13:00 432 60 %= 5000M s%4_ ;'i—% E3AERIA
361 13:00 %332 65 = 5000M s&4_ g E3AHEBRIA
362 13:00 g3 40 &= 5000M s g L2AFR2A
363 13:00 3% 45 & e 5000M s s 1A HEBRLA
364 13:00 3% 50 &= 5000M s R E4A ERAA
365 13:00 § 3% 55 ke 5000M s ;'i—% E3AERIA
366 13:00 32 60 &&= 5000M s g L5 A HREHA
367 13:00 g3 %2 65 f&e 5000M s g 1A ERLA
368 13:00 3% 70 &%= 5000M s ;'i—% L6 A,FROL A
369 13:00 32 80 & & 5000M s g E3AHEBRIA
370 13:00 4~ 3= 25k 4a7k(4KG) g 24,24
371 13:00 =2 30 &2 485k (4KG) s £ 34,34
372 13:00 -+~ 32 40 &2 4858 (4KG) g r 1 4A,5~1 4
373 13:00 3= 45 g2 487k (4KG) ;‘i—% X 24,24
374 13:30 ~ 32 50 g2 485k (3KG) s x4 A B4 A
375 13:30 -+~ 3= 55 gl 447k (3KG) ;‘i—% 24,24
376 13:30 -+~ 3= 60 %2 4a5k(3KG) ;'i—% x 1A, B~1 4
377 13:30 -~ 32 65 i 483k (3KG) g E 1A B4
378 13:30 4~ = 70 %2 485k (3KG) ;‘i—% 3 A, B34
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M24 # . 3000M Fi et AF =LA BRI
25 & . 3000M K e S IR - &
35 #& = 3000M MLz A =1 A BRI
40 & = 3000M Hime AE R4 BRAL
45 f e 3000M Hise AR O R24,BB2 4
50 & = 3000M Hig AFE R2A BB
55 f& k. 3000M K e S R 3 R
25 f& & 2000M K =S SEEE S T
40 & = 2000M His AF R4 BE2
45 f e 2000M s = SEE R ¥ S
50 & = 2000M Hig A R 1A EREL
65 f 2 2000M Fige ey S I 1
75 #& 2 2000M Mg b S B - 3 B
60 & 22 2000M Fe A 234, BB
65 f& = 2000M K = SEE D Y S
70 f& 2 2000M K e S R 3 R
75 f 2 2000M Fige ey A I 1
PRappei sig7 -2 en LO4Es
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